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QUESTION 1

A company wants to design an internal website for the purpose of managing its numerous social events. The site will not
have heavy traffic, but will require state to be persisted in a database. You have been tasked to complete this action
item in your spare time. 

Which two Java EE-based approaches are best suited for quick development? 

A. Use JPA in the web tier only. 

B. Use message-driven beans to manage the posting of events. 

C. Use your domain model components as JavaServer Faces (JSF) managed beans. 

D. Use an Enterprise javaBeans (EJB) container to service-inject the domain model and support a JPA deployment. 

Correct Answer: AC 

 

QUESTION 2

You are the architect at ACME, a large a large global retailer of festival and holiday accessories. ACME wants to launch
a new shopping portal for the holiday shopping session, allowing two months from project inception to going live. The
portal must contain in-house and third-party stock to attack customers. 

Fast response times are also critical so users remain engaged and sticky to the portal. 

What would you recommend to the ACME project team to deliver this project? 

A. Access all third party content using JSONP to dynamically load it from the browser. 

B. Access as much content with bulk-loading as possible; use JSONP to access the remainder. 

C. Access all content regardless of source using the HTML 5 XML parsing capabilities of the browser 

D. Access all third party content using JSON to dynamically load it from the browser. 

Correct Answer: A 

 

QUESTION 3

You have been recruited by an online retailer of footwear to conduct a review of their online systems. Your primary
Finding is that the development team has implemented duplicated complex business logic as Java scripts directly into
the JSPs, causing performance, scalability, and maintainability issues. 

Which two design patterns would you select to improve the current code base? 

A. View Helper 

B. From Controller 

C. Composite View 
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D. Service-to-Worker 

E. Business Delegate 

Correct Answer: BD 

 

QUESTION 4

Which statements are true about Java integration technologies? 

A. Remote Method Invocation (RMI) helps to connect subsystems in a loosely coupled manner. 

B. Java Message Service (JMS) helps in synchronous messaging between Java and non-Java systems. 

C. JMS helps to broadcast messages to multiple Java-based receivers. 

D. Java Connector Architecture (JCA) helps to integrate with heterogeneous legacy enterprise information systems. 

Correct Answer: C 

 

QUESTION 5

You have been tasked with improving the availability of an existing three tier application. 

What is your first stop in evaluating what changes should be made to the architecture to achieve the goal? 

A. Monitor network traffic between tiers. 

B. Separate presentation from business logic. 

C. Identify and document all single points of failure. 

D. Cluster the presentation tier without session replication. 

Correct Answer: C 
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